İstanbul Üniv. Fen Fak. Mat. Der. 48 (1987-1989), 99-108

PROPERTIES OF FINITE SYSTEMS OF CONVEX CURVES

W. CIESLAK - S. GOZDZ

This paper is concerned with properties of a plane closed curves which contains the class of all ovals. We introduce the width of a pair of curves in our class. All pairs of constant width are found and the counterpart of Barbier theorem is proved. Moreover the extensions of some global theorems onto finite system of curves of the considered class are given.

1. Introduction

In this paper we will consider the class AI of plane closed curves of the following form

$$z(\theta) = \int_{0}^{\theta} r(u) e^{iu} du \quad \text{for } 0 \le \theta \le 2\pi, \qquad (1)$$

where r is a continuous, 2π -periodic and positive function. If r is a differentiable function, then $\frac{1}{r}$ is the curvature and the class AI contains the class of ovals (see [6], [5]). A continuity and periodicity of the function r imply that the Fourier series expansion of r

$$\frac{1}{2}a_0 + \sum_{j=1}^{\infty} (a_j \cos ju + b_j \sin ju)$$
 (2)

converges uniformly to r (see [4]).

We note that a curve of the form (1) is closed if and only if

$$a_1 = b_1 = 0. (3)$$

We introduce the width of a pair of curves of the class AI. This notion is a natural generalization of the width of a convex curve. We determine all pairs of constant width. Then we prove the counterpart of Barbier theorem (see [⁵]) and we give the necessary and sufficient condition to be a pair of constant width.

Moreover, some global theorems we extend onto a finite system of curves of the class AI.

.99

2. Pairs of curves

Let two curves C_1 , C_2 of the class AI be given,

$$z_m(\theta) = w_m + \int_0^\theta r_m(u) e^{iu} du \quad \text{for } 0 \le \theta \le 2\pi, \qquad (4)$$

where w_m are fixed complex numbers.

We introduce the following vector and functions:

$$p(\theta) = z_1(\theta) - z_2(\theta + \pi)$$

$$\delta(\theta) = [p(\theta), e^{i\theta}]$$

$$\Delta(\theta) = [p(\theta), ie^{i\theta}],$$
(5)

where [a + ib, c + id] = ad - be.

Definition 1. The function δ will be called the width of the pair (C_1, C_2) . We note that if $C_1 = C_2$, then δ is a usual width function of C_1 .



Fig. 1

Definition 2. A pair (C_1, C_2) such that $\delta \equiv \text{const.}$ will be called of constant width.

PROPERTIES OF FINITE SYSTEMS OF CONVEX CURVES

요구는 말했는 것이라는 사람들이 아름지 않는 것이다. 이야한 말했다. 한

Theorem 1. If a pair (C_1, C_2) is of constant width δ , then

$$L_1 + L_2 = 2 \pi \delta$$
, (6)

where L_m denotes the perimeter of C_m .

Proof. From (5) we can derive the following system of differential equations

$$\begin{cases} \delta'(\theta) = \Delta(\theta), \\ \Delta'(\theta) = -\delta(\theta) + r_1(\theta) + r_2(\theta + \pi). \end{cases}$$

$$(7)$$

We have

$$L_m = \int_0^{2\pi} r_m(u) \, du \, .$$

Thus integrating the second relation of (7) we immediately obtain (6).

It is easy to see that the well-known theorem of Barbier (see [5]) is a special case of Th. 1.

Moreover, from (7) we get

Proposition 1. If a pair (C_1, C_2) is of constant width δ , then we have

$$r_1(\theta) + r_2(\theta + \pi) \equiv \delta \quad \text{for } \theta \le \theta \le 2\pi.$$
 (8)

Let us consider a pair (C_1, C_2) of constant width. Let C_m , m=1, 2 be given by (4), $w_m = x_m + iy_m$ and

$$r_m(u) = \frac{1}{2} a_0^m + \sum_{j=2}^{\infty} (a_j^m \cos ju + b_j^m \sin ju).$$
 (9)

We give some characterization of the pair (C_1, C_2) with the help of the coefficients of the Fourier series expansion. We have

$$\delta = [p(\theta), e^{i\theta}] = [w_1 - w_2, e^{i\theta}] +$$

$$+ \int_{0}^{\theta} (r_1(u) - r_2(u)) [e^{i\theta}, e^{i\theta}] du - \int_{\theta}^{\theta+\pi} r_2(u) [e^{iu}, e^{i\theta}] du =$$

$$= (x_1 - x_2) \sin \theta - (y_1 - y_2) \cos \theta -$$

$$- \int_{0}^{\theta} (r_1(u) - r_2(u)) \sin (u - \theta) du + \int_{\theta}^{\theta+\pi} r_2(u) \sin (u - \theta) du =$$

101.

1997 - C

1933

Sector Sector

$$\begin{split} &= (x_1 - x_2)\sin\theta + (y_2 - y_1)\cos\theta - \frac{1}{2}(a_0^1 - a_0^2)\int_0^{b}\sin(u - \theta)\,du - \\ &- \sum_{j=2}^{\infty} \Big\{ (a_j^1 - a_j^2)\int_0^{b}\cos ju\sin(u - \theta)\,du + (b_j^1 - b_j^2)\int_0^{b}\sin ju\sin(u - \theta)\,du \Big\} + \\ &+ \frac{1}{2}a_0^2\int_0^{b+\pi}\sin(u - \theta)\,du + \sum_{j=2}^{\infty} \Big\{ a_j^2\int_0^{b+\pi}\cos ju\sin(u - \theta)\,du + \\ &+ b_j^2\int_0^{b+\pi}\sin ju\sin(u - \theta)\,du \Big\} = \\ &= (x_1 - x_2)\sin\theta + (y_2 - y_1)\cos\theta + \frac{1}{2}(a_0^1 + a_0^2) + \frac{1}{2}(a_0^2 - a_0^1)\cos\theta + \\ &+ \frac{1}{2}\sum_{j=2}^{\infty} \Big\{ (a_j^1 - a_j^2) \left[\frac{1}{j+1}(\cos j\theta - \cos \theta) - \frac{1}{j-1}(\cos j\theta - \cos \theta) \right] + \\ &- (b_j^1 - b_j^2) \left[\frac{1}{j+1}(\sin j\theta + \sin \theta) - \frac{1}{j-1}(\sin j\theta - \sin \theta) \right] \Big\} + \\ &+ \frac{1}{2}\sum_{j=2}^{\infty} \Big\{ a_j^2 \left[\frac{-1}{j+1}(\cos(j\theta + (j+1)\pi) - \cos j\theta) + \frac{1}{j-1}(\cos(j\theta + (j-1)\pi) - \cos j\theta) \right] + \\ &+ b_j^2 \left[\frac{1}{j+1}(\sin(j\theta + (j+1)\pi) - \sin j\theta) - \frac{1}{j-1}(\sin(j\theta + (j-1)\pi) - \sin j\theta) \right] \Big\} = \\ &= (x_1 - x_2)\sin\theta + (y_2 - y_1)\cos\theta + \frac{1}{2}(a_0^1 + a_0^2) + \frac{1}{2}(a_0^2 - a_0^1)\cos\theta + \\ &+ \frac{1}{2}\sum_{j=2}^{\infty} \Big\{ a_j^2 \left[\frac{-1}{j+1}(\cos(j\theta - \cos \theta) - (b_j^1 - b_j^2) \left[\frac{-2}{j^2-1}\sin(j\theta + \frac{2j}{j^2-1}\sin\theta) \right] \Big\} + \\ &+ \frac{1}{2}\sum_{j=2}^{\infty} \Big\{ a_j^2 \left[\frac{-1}{j+1}((-1)^{j+1} - 1)\cos j\theta + \frac{1}{j-1}((-1)^{j+1} - i)\cos j\theta \right] + \\ &+ \frac{1}{2}\sum_{j=2}^{\infty} \Big\{ a_j^2 \left[\frac{-1}{j+1}((-1)^{j+1} - 1)\sin j\theta - \frac{1}{j-1}((-1)^{j+1} - 1)\sin j\theta \right] \Big\} = \\ &= (x_1 - x_2)\sin\theta + (y_2 - y_1)\cos\theta + \frac{1}{2}(a_0^1 - a_0^2) + \frac{1}{2}(a_0^2 - a_0^1)\cos\theta + \\ &+ \frac{1}{2}\sum_{j=2}^{\infty} \Big\{ a_j^2 \left[\frac{-1}{j+1}((-1)^{j+1} - 1)\cos j\theta + \frac{1}{j-1}((-1)^{j+1} - 1)\sin j\theta \right] \Big\} = \\ &= (x_1 - x_2)\sin\theta + (y_2 - y_1)\cos\theta + \frac{1}{2}(a_0^1 - a_0^2) + \frac{1}{2}(a_0^2 - a_0^1)\cos\theta + \\ &+ \frac{1}{2}\sum_{j=2}^{\infty} \Big\{ a_j^2 \left[\frac{-1}{j+1}((-1)^{j+1} - 1)\cos j\theta + \frac{1}{j-1}((-1)^{j+1} - 1)\cos j\theta \right] + \\ &+ \frac{1}{2}\sum_{j=2}^{\infty} \Big\{ a_j^2 \left[\frac{-1}{j+1}((-1)^{j+1} - 1)\cos j\theta + \frac{1}{j-1}((-1)^{j+1} - 1)\sin j\theta - \frac{1}{j-1}((-1)^{j+1} - 1)\sin j\theta - \frac{1}{j-1}((-1)^{j+1} - 1)\sin j\theta \Big\} \Big\} = \\ &= (x_1 - x_2)x_1 + (x_2 - x_2)x_2 + (x_2 - x_2)x_1 + \frac{1}{2}(x_1 - x_2)x_2 + \frac{1}{2}(x_1 - x_2)x_2 + \frac{1}{2}(x_1 - x_2)x_1 + \frac{1}{2}(x_1 - x_2)x_2 + \frac{1}{2}(x_1 - x$$

PROPERTIES OF FINITE SYSTEMS OF CONVEX CURVES

$$\begin{split} &= \frac{1}{2} \left(a_0^1 + a_0^2 \right) + \left(x_1 - x_2 - \sum_{j=2}^{\infty} \frac{j}{j^2 - 1} \left(b_j^1 - b_j^2 \right) \right) \sin \theta + \\ &+ \left(y_2 - y_1 - \frac{1}{2} \left(a_0^1 - a_0^2 \right) + \sum_{j=2}^{\infty} \frac{1}{j^2 - 1} \left(a_j^1 - a_j^2 \right) \right) \cos \theta + \\ &+ \sum_{j=2}^{\infty} \frac{1}{j^2 - 1} \left[a_j^2 - a_j^1 + \left((-1)^{j+1} - 1 \right) a_j^2 \right] \cos j \theta + \\ &+ \sum_{j=2}^{\infty} \frac{1}{j^2 - 1} \left[b_j^1 - b_j^2 - \left((-1)^{j+1} - 1 \right) b_j^2 \right] \sin j \theta = \\ &= \frac{1}{2} \left(a_0^1 + a_0^2 \right) + \left(x_1 - x_2 - \sum_{j=2}^{\infty} \frac{j}{j^2 - 1} \left(b_j^1 - b_j^2 \right) \right) \sin \theta + \\ &+ \left(y_2 - y_1 - \frac{1}{2} \left(a_0^1 - a_0^2 \right) + \sum_{j=2}^{\infty} \frac{1}{j^2 - 1} \left(a_j^1 - a_j^2 \right) \right) \cos \theta + \\ &+ \sum_{j=2}^{\infty} \frac{1}{j^2 - 1} \left[(-1)^{j+1} a_j^2 - a_j^1 \right] \cos j \theta + \sum_{j=2}^{\infty} \frac{1}{j^2 - 1} \left[b_j^1 - (-1)^{j+1} b_j^2 \right] \sin j \theta \,. \end{split}$$

Hence we obtain the following theorem :

Theorem 2. A pair (C_1, C_2) is of constant width if and only if the Fourier coefficients of r_m satisfy the conditions

$$a_{0}^{0} + a_{0}^{2} = 2 ,$$

$$\begin{cases} a_{j}^{1} + a_{j}^{2} = 0 \\ b_{j}^{1} + b_{j}^{2} = 0 \end{cases} \text{ for even } j,$$

$$\begin{cases} a_{j}^{1} - a_{j}^{2} = 0 \\ b_{j}^{1} - b_{j}^{2} = 0 \end{cases} \text{ for odd } j,$$

$$x_{1} - x_{2} = \sum_{j \neq 2, 4, \dots}^{\infty} \frac{j}{j^{2} - 1} (b_{j}^{1} - b_{j}^{2}),$$

$$y_{1} - y_{2} = \sum_{j \neq 1}^{\infty} \frac{1}{j^{2} - 1} (a_{j}^{1} - a_{j}^{2}).$$
(10)

103

We note that if $C_1 = C_2$ and C_1 is of constant width, then we obtain the characterization of curves of constant width given by Tennison [6].

3. Parallel curves

Let us consider two curves C_1 , C_2 of the class AI given by (4).

Let

$$\begin{array}{l} q(\theta) = z_1(\theta) - z_2(\theta) \\ \omega(\theta) = [q(\theta), e^{i\theta}] \\ \Omega(\theta) = [q(\theta), ie^{i\theta}] \end{array}$$

$$(11)$$



We note that the curve C_2 lies in the interior of the set bounded by C_1 if and only if

 $\omega(\theta) > 0 \quad \text{for} \quad 0 \leq \theta \leq 2\pi \,. \tag{12}$

<u> 2007 - 1998 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999</u>

We prove the following theorem:

Theorem 3. If $\omega = \text{const.} > 0$, then a pair (C_1, C_2) forms a parallel curves. **Proof.** Making use of the results of the previous paragraph we may write

PROPERTIES OF FINITE SYSTEMS OF CONVEX CURVES

过感的

$$\begin{split} \omega &= \left[q\left(\theta\right), \ e^{i\theta}\right] = \left[w_{1} - w_{2}, \ e^{i\theta}\right] - \int_{0}^{\theta} \left(r_{1}\left(u\right) - r_{2}\left(u\right)\right) \sin\left(u - \theta\right) du = \\ &= \left(x_{1} - x_{2}\right) \sin\theta + \left(y_{2} - y_{1}\right) \cos\theta + \frac{1}{2} \left(a_{0}^{1} - a_{0}^{2}\right) \left(1 - \cos\theta\right) + \\ &+ \sum_{j=2}^{\infty} \left(a_{j}^{1} - a_{j}^{2}\right) \left(\cos\theta - \cos j \theta\right) \frac{1}{j^{2} - 1} + \left(b_{j}^{1} - b_{j}^{2}\right) \frac{1}{j^{2} - 1} \left(\sin j \theta - j \sin\theta\right) \right\} \\ &= \frac{1}{2} \left(a_{0}^{1} - a_{0}^{2}\right) + \left(x_{1} - x_{2} - \sum_{j=2}^{\infty} \frac{j}{j^{2} - 1} \left(b_{j}^{1} - b_{j}^{2}\right)\right) \sin\theta + \\ &+ \left(y_{2} - y_{1} - \frac{1}{2} \left(a_{0}^{1} - a_{0}^{2}\right) + \sum_{j=2}^{\infty} \frac{1}{j^{2} - 1} \left(a_{j}^{1} - a_{j}^{2}\right)\right) \cos\theta - \\ &- \sum_{j=2}^{\infty} \frac{1}{j^{2} - 1} \left(a_{j}^{1} - a_{j}^{2}\right) \cos j\theta + \sum_{j=2}^{\infty} \frac{1}{j^{2} - 1} \left(b_{j}^{1} - b_{j}^{2}\right) \sin j\theta \,. \end{split}$$

Hence we get

$$a_j^1 = a_j^2$$
 and $b_j^1 = b_j^2$ for all $j \ge 2$,
 $\omega = \frac{1}{2} (a_0^1 - a_0^2), x_1 = x_2, y_2 - y_1 = \omega$,

or equivalently

$$r_2 = \omega + r_1$$
 and $w_2 = w_1 + i\omega$.

Thus we have

$$q(\theta) = \omega i e^{i\theta}$$
 and $|q(\theta)| = \omega$, $\Omega \equiv 0$.

It means that the vectors q and the tangent vector to C_1 are orthogonal. It ends the proof.

4. Finite sequences of curves

Let us consider an arbitrary finite sequence of curves C_1 , C_2 ,..., C_M belonging to AI. Let C_m , m = 1,...,M be given by (4) and

105

$$f(\theta) = \sum_{m=1}^{M} \int_{0}^{\theta+\pi} r_m(u) \, du \quad \text{for} \quad \theta \le \theta \le 2 \pi \,. \tag{13}$$

The value $f(\theta)$ is equal to the sum of all oriented arcs contained between the points $z_m(\theta)$ and $z_m(\theta + \pi)$.



By L_m we denote the perimeter of C_m .

We consider the function defined by the formula

$$g(\theta) = \sum_{m=1}^{M} \left(\int_{0}^{\theta+\pi} r_m(u) \, du - \frac{1}{2} L_m \right). \tag{i4}$$

We note that, if M = 1, then the zero of g determines an arc pair (see [²]). Now, we prove the generalization of Th. 4 [²].

Theorem 4. There exist at least three zeros of the function g.

이 이가 많아서 아파 [27]

Proof. We have

$$g(\theta + \pi) = \sum_{m=1}^{M} \left(\int_{\theta+\pi}^{\theta+2\pi} r_m(u) \, du - \frac{1}{2} L_m \right) =$$

= $\sum_{m=1}^{M} \left(\int_{\theta}^{\theta+2\pi} r_m(u) \, du - \int_{\theta}^{\theta+\pi} r_m(u) \, du - \frac{1}{2} L_m \right) =$
= $\sum_{m=1}^{M} L_m - \sum_{m=1}^{M} \int_{\theta}^{\theta+\pi} r_m(u) \, du - \frac{1}{2} \sum_{m=1}^{M} L_m = -g(\theta) .$

Thus there exists θ_0 such that $g(\theta_0) = g(\theta_0 + \pi) = 0$. We may assume that $\theta_0 = 0$. Moreover, we have

$$-\int_{0}^{\pi} g(t) \sin t \, dt = g(t) \cos t \Big|_{0}^{\pi} - \int_{0}^{\pi} \Big(\sum_{m=1}^{M} (r_m(t+\pi) - r_m(t)) \Big) \cos t \, dt =$$
$$= -\sum_{m=1}^{M} \Big(\int_{0}^{2\pi} r_m(t+\pi) \cos t \, dt - \int_{0}^{\pi} r_m(t) \cos t \, dt \Big) = \sum_{m=1}^{M} \int_{0}^{2\pi} r_m(t) \cos t \, dt = 0$$

since each C_m is a closed curve.

The same considerations as in the proof of Blaschke-Süss Theorem (see [5], p. 202) guarantee the existence of two further zeros of g. It completes our proof.

Theorem 5. The function f reaches at least three extrema.

Proof. It suffices to apply the same considerations as in Th. 4.

REFERENCES

[']	CIESLAK, W. and GOZDZ, St.	:	On curves which bound special convex sets, Serdica 13 (1987), 281-286.
[²]	CIESLAK, W. and MOZGAWA, W.	:	On rosettes and almost rosettes, Geom. Dedicata 24 (1987), 221-228.
[*]	CIESLAK, W. and ZAJAC, J.	:	The Rosettes, Math. Scand. 58 (1986), 114-118.

[4] KUFNER, A. and KADLEC, J.	: Fourier series, Academia, Praha 1971.
[⁴] LAUGWITZ, D.	: Differential and Riemannian Geometry, Academic Press, New York-London, 1965.
[⁶] TENNISON, R.L.	: Smooth curves of constant width, Math. Gaz. 60 (1976), 270-272.

INSTYTUT MATEMATYKI UMCS 20-031 LUBLIN PL. M. C.SKLODOWSKIEJ 1. POLAND

ÖZET

Bu çalışmada bütün ovallerin sınıfını içeren kapalı düzlem eğrilerinin özellikleri incelenmektedir.